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1.6 – Distributing A Negative        

Simplify. 
 
1. 5𝑥 − 8(3 + 2𝑥)       ____________________ 
 
 
 
 
2. −(𝑒 + 7) − 5𝑒 + 6       ____________________ 
 
 
 
 
3. −3(8 − 5𝑧) + 6𝑧       ____________________ 
 
 
 
 
4. 6 − (4 − 𝑎) − 2𝑎       ____________________ 
 
 
 
 
5. −5𝑑 − (8 − 𝑑) − 9       ____________________ 
 
 
 
 
6. −4(3𝑥 − 5) − 3(2 + 7𝑥)      ____________________ 
 
 
 
 
7. −5(6 + 3𝑦) − 7(2𝑦 − 9)      ____________________ 
 
 
 
 
Simplify. THEN Evaluate. 
 
8. 7𝑥 − 2(4𝑥 − 6)  for 𝑥 = −3     ____________________ 
 

____________________ 



 
9. −(−7𝑥 + 2) − 8𝑥 + 1 for 𝑥 = 5     ____________________ 
 

____________________ 
 
 
 
 
 
10.   −8𝑧 − (5𝑧 + 6) + 15𝑧 for 𝑧 = −1    ____________________ 
 

____________________ 
 
 
 
 
 
11.   −(𝑎 + 4) + (8 − 𝑎) for 𝑎 = 2     ____________________ 
 

____________________ 
 
 
 
 
 
 
12.    6𝑏 − 3(𝑏 + 7) − (5 − 4𝑏) for 𝑏 = 4    ____________________ 
 
          ____________________ 
 
 
 
13.  Simplify:  5[1 + 3(7 − 3) − 2 + 3] ÷ 7    ________________ 
 
 
 

14.  Simplify:  −|12 − |−15||       ________________ 

 
 
 

15. Simplify:  (
1

5
) ÷ (

−1

35
)          ________________ 


